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ek mg/m?3 ND ND ND ND = —
—EAR | mg/m?3 25 29 2.0 2.2 80 IEHR
Aok = kg/h 0.02 0.02 0.02 0.02 — —
AR | mg/m? L 1.4 12 1.2 — —
TS | ek mg/m3 1.9 2.1 1.6 1.9 70 AR
Heok = kg/h 1.50x102 | 1.7x102 | 1.6x]102 1.6x1072 < —
AR | mg/m? 0.0103 0.0172 0.0057 0.0111 — =
R Hr B B mg/m?3 0.0175 0.0257 0.0078 0.0170 0.1 B
AR | kg L4x104 [ 23x104 | 8.0x]0 1.5x104 — =
AR E | mg/m? 121103 | 2.34x103 | 3.57x10" 2.37=10° = .
28 A
sHs| % PrEum s mg/m* | 2.05x103 | 3.49x]0-3 4.82x103 | 3.46x103 — —
(70m) AERGER | kg/h | 1.63x105 3.12x105 | 4.80x10° | 3.18x10° — L)
ek mg/m3 ND ND ND ND e —
5 PHEWRE | mg/m? 2.54x10* | 2.24x10 | 2.03x10 227104 = -
HEoE = kg/h 2.02x10 | 2.00x10% | 2.02x10 2.01x10¢ - ..
Bk E mg/m? | 4.00x105 | 3.00x10 2.00x10° | 3.00x10°S e —=
i @ﬁf&f}% mg/m* | 6.78x10"5 | 4.48x1( 2.70x107 | 4.65x10-S — —
AERUSE %= kg/h 5.38x107 | 4.00x107 | 2.69x10-7 4.02x107 = =
HER mg/m? | 7.70x104 | 6.90x]0- 5.10x10* | 6.57x10 . —
WHEIRE | mg/m? 1.31x10° | 1.03x10" | 6.89x]0+ 1.01x1073 s -
AEGE % kg/h 1.04x10-° | 9.20x10% | 6.86x10- 8.81x10¢ S
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HBOREE | mg/m® | 7.40x10 6.50x10* | 4.60x10* | 6.17x104 = —
i PWEIRE | mg/m® | 1.25x103 | 9.70x]10 6.22x10* | 9.49x104 s =
HSER | kg/h 9.95x10¢ | 8.67x106 | 6.19x10¢ | 8.27x10 o =
f B AFBUREE | mg/m® | 2.91x103 | 3.86x10° 4.71x107 | 3.83x1073 = —
B, 4.
WmAE | TERE | mgmd | 4.93x10° | 5.76x103 6.36x103 | 5.69x10°3 4.0 IER
WEY) i
2 AFBGEZE | kg/h | 3.91x105 | 5.15x10° 6.34x10° | 5.13x10°S — -
AR E | mg/m? ND ND ND ND - —
it PEKE | mgm® | 1.70x10 | 1.49x104 1.35x10 | 1.51x10 = _—
HSEZE | kg/h 1.35%10° | 1.33x106 | 1.35x10°6 | 1.34x10 — -
AR | mg/m® | 1.01x103 7.40x10* | 4.50x10* | 7.33x10* — =
(L WHEIKE | mgm® | 1.71x103 1.10x103 | 6.08x10* | 1.14x1073 5= s
HFGER | kg/h 1.36x10° | 9.86x10% | 6.06x10°6 | 9.84x10 s —
g | FBUKEE | mgm® | 1.11x107 | 8.40x104 | 5.50%104 8.33x10% | — ==
HAE [ IEIRE | mgm® | 1.88x102 1.25x1073 | 7.43x10 | 1.29x1073 1.0 .Y 7
B HSEZE | kg/h 1.49%107° | 1.12x10% | 7.40x10°6 | 1.12x10° — -
HEOREE | mg/m? ND ND ND ND s -
H PWEIRE | mgm?® | 6.78x10° | 5.97x10 5.41x10°% | 6.05x10 0.1 IERR
AFS#EER | kg/h 5.38x10” | 5.33x10°5 | 5.38x105 | 5.37x10° = e
AFBIRE | mg/m?® | 2.46x10° | 8.10x10 5.20x10* | 1.26x103 — =
A WHEIRE | mgm?® | 4.17x103 1.21x1073 | 7.03x10* | 2.03x103 1.0 pr.Y v
HSUER | kgh 3.31x107° | 1.08x10°% | 7.00x106 | 1.70x10 et -
T iRE m%/h 13451 13331 13456 13413 =L —
TR iR m/s 3.7 3.6 3.3 3.7 _— —
MR i 71.2 71.3 69.9 70.8 == —
TiRE % 14.1 13.5 13.5 3.7 = —
58 % 15.1 14.3 13.6 14.3 == —
s wEg |
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